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	Field description
	Field name
	Field version
	Field length
	Field type
	Field
level

	Cost centre FTE (England, Northern Ireland, Wales and The Open University in Scotland)
	Z_CCFTE_CYC
	0.4.0
	5,2
	Dec
	3



Entity
DerivedEngagementCostCentre.Z_CCFTE_CYC – the FTE for each cost centre within the Engagement, based on modules which overlap the cycle.
This calculation is only applicable for a full cycle and is based on the cycle student load (Z_STULOAD_CYC). i.e. The calculation is not applicable for periods spanning less than 12 months (e.g. reference periods not covering a full cycle).
This field is not derived for providers in Scotland other than the Open University; Postgraduate research students; Engagements with no associated module information; APEL modules; inactive module instances and where cost centre data is unavailable.
Note: See Z_CCFTESCSEND_CYC for an alternative cost centre FTE derivation for Scotland-only providers.  Z_CCFTE_CYC is only for providers in England, Northern Ireland, Wales and The Open University in Scotland.  

Valid entries
A decimal value greater than or equal to zero, with up to two decimal places.
A full-time student who is not on an accelerated course is likely to have a total FTE value of around 100, across all cost centres. A part-time student is likely to have an FTE less than 100 and a student on an accelerated course may have a total FTE greater than 100.

Depend upon fields
· Engagement.Z_PROVIDERGRP2
· StudentCourseSession.Z_LEVELSCSGRP2
· StudentCourseSession.ActiveModule.Z_MODACTFROM
· StudentCourseSession.ActiveModule.Z_MODACTTO
· StudentCourseSession.ModuleInstance.Module.FTE
· StudentCourseSession.ModuleInstance.Module.ModuleCostCentre.COSTCN
· StudentCourseSession.ModuleInstance.Module.ModuleCostCentre.COSTCNPROPORTION
· StudentCourseSession.SCSSTARTDATE
· Engagement.Z_STULOAD_CYC 
· System.Z_CYCSTARTDATE
· CycleEndDate

Additional information
This Cost Centre Full Time Equivalent (FTE) calculation only considers active modules which overlap the cycle.
Some active modules will have periods of inactivity. This will result in multiple start and end dates relating to different active segments of the same Module. In these cases, the calculation will take the earliest active start date and latest active end date for the Module Instance.
The following are excluded from Cost Centre FTE calculations:
· Records from providers in Scotland other than the Open University
· Engagements for which all associated Student Course Sessions are postgraduate research study.
· Student Course Sessions which have no associated Module Instances overlapping the cycle (even if cost centre information is available).
· APEL (Accreditation of Prior Experiential Learning) Module Instances.
· Inactive Module Instances 
· Modules with missing cost centre information
For the Module FTE to be attributed in full to the Cost Centre FTE calculation, the active module must either:
· Span the entire cycle.
· Be contained entirely within the cycle. 
For any active modules which have some activity in the cycle but do not satisfy either of the conditions above, fifty per cent of the Module FTE is attributed to the cycle for the Cost Centre FTE calculation.  
The following table sets out the scenarios in which the conditions can be met or not:
	Module active-from date
relative to start date of the cycle
	Module active-to date 
relative to end date of the cycle
	If neither condition satisfied, multiply by 0.5. 
Otherwise multiply by 1
	Multiplication of Module FTE to attribute to cycle
	Scenario

	
	
	Contained 
within period
	Spans entire 
period
	
	

	Before
	Before
	0
	0
	0.5
	1

	Before
	On
	0
	1
	1
	2

	Before
	After
	0
	1
	1
	2

	On
	Before
	1
	0
	1
	3

	On
	On
	1
	1
	1
	3

	On
	After
	0
	1
	1
	3

	After
	Before
	1
	0
	1
	4

	After
	On
	1
	1
	1
	4

	After
	After
	0
	0
	0.5
	5



The dummy date ‘31/12/9999’, which is assigned to select active module end dates, will be included in ‘After’. Full details of when this value is assigned can be found in the specification for Z_MODACTFROM.
Scenarios:
1. The active module starts before the cycle starts and ends before the cycle ends.
2. The active module starts before the cycle starts and is open or ends on the same day or after the cycle ends.
3. The active module starts on the same day as the cycle starts.
4. The active module starts after the cycle starts and ends on the same day or before the cycle ends. 
5. The active module starts after the cycle starts and is open or ends after the cycle ends.


Technical Specification
Step 1
Exclude the following records from the calculation:
· Records from providers in Scotland other than the Open University; Z_PROVIDERGRP2 = 03
· Postgraduate research students; those Engagements for which all Student Course Sessions have Z_LEVELSCSGRP2 = 01.
· Engagements with no associated module information.
· APEL and inactive module instances, those modules for which both Z_MODACTFROM and Z_MODACTTO equal the dummy value 31/12/9999. 
· Modules with no associated cost centre information.

Step 2

Take all remaining modules associated with the Engagement.
Where a module has multiple derived start and end dates for the same student (this would happen where there are periods of inactivity within the module), take the earliest active start date (Z_MODACTFROM) and latest active end date (Z_MODACTTO) of the active segments of the module to use as the active module start and end dates. 
When either:

· Z_MODACTFROM is before Z_CYCSTARTDATE and Z_MODACTTO is on or after CycleEndDate (including 31/12/9999) or
· Z_MODACTFROM is equal to Z_CYCSTARTDATE or
· Z_MODACTFROM is after Z_CYCSTARTDATE and Z_MODACTTO is on or before CycleEndDate

the Module.FTE should be attributed in full to the Cost Centre FTE calculation.

When either: 

· Z_MODACTFROM is before Z_CYCSTARTDATE and Z_MODACTTO is before CycleEndDate or
· Z_MODACTFROM is after Z_CYCSTARTDATE and Z_MODACTTO is after CycleEndDate (including 31/12/9999).

the Module.FTE should be attributed divided by two in the Cost Centre FTE calculation.

To calculate the student load apportioned to each active module, divide the apportioned Module.FTE by the sum of all apportioned Module.FTEs relating to the cycle. Multiply the result by Z_STULOAD_CYC. 


Step 2 Example:
Module 1 (FTE1) is contained entirely within the cycle with an FTE of 60.
Module 2 (FTE2) is only partially in the cycle with an FTE of 30.
The Z_STULOAD_CYC is 100
Module 1: ({FTE1 / (FTE1 + (FTE2/2))} x Z_STULOAD_CYC)
({60/(60+(30/2))} x 100)=80
Module 2: ({(FTE2/2)/(FTE1 + (FTE2/2))} x Z_STULOAD_CYC)
({(30/2)/(60+(30/2))} x 100)=20

Step 3
Take each cost centre (StudentCourseSession.ModuleInstance.Module.ModuleCostCentre.COSTCN) associated with the module instance. Multiply the FTE figure obtained in Step 2 by the cost centre proportion, divided by 100 (StudentCourseSession.ModuleInstance.Module.ModuleCostCentre.COSTCNPROPORTION/100).
Step 3 Example:
Cost Centre 1  (COSTCNPROPORTION1) is 40 in Module 1 and not in Module 2.
Cost Centre 2  (COSTCNPROPORTION2) is 60 in Module 1 and 40 in Module 2.
Cost Centre 3  (COSTCNPROPORTION3) is not in Module 1 and 60 in Module 2.
Module 1, Cost Centre 1: ({FTE1 / (FTE1 + (FTE2/2))}  x Z_STULOAD_CYC) x (COSTCNPROPORTION1/100)
({60/(60+(30/2))} x 100) x (40/100) = 80 x 0.4 = 32
Module 1, Cost Centre 2: ({FTE1 / (FTE1 + (FTE2/2))}  x Z_STULOAD_CYC) x (COSTCNPROPORTION2/100)
({60/(60+(30/2))} x 100) x (60/100) = 80 x 0.6 = 48

Module 2, Cost Centre 2: ({(FTE2/2)/(FTE1 + (FTE2/2))} x Z_STULOAD_CYC) x (COSTCNPROPORTION2/100)
({(30/2)/(60+(30/2))} x 100) x (40/100) = 20 x 0.4 = 8
Module 2, Cost Centre 3: ({(FTE2/2)/(FTE1 + (FTE2/2))} x Z_STULOAD_CYC) x (COSTCNPROPORTION3/100)
({(30/2)/(60+(30/2))} x 100) x (60/100) = 20 x 0.6 = 12

Step 4
Sum the figures obtained for each cost centre for across all module instances included in the cycle for the Engagement.
Cost Centre 1 = 32  (Module 1 only)
Cost Centre 2 = 48 + 8 = 56
Cost Centre 3 = 12 (Module 2 only)

Revision history
2022-07-11	0.1.0	Updated text for modules with periods of inactivity. Additional scenario 5 added to ensure all cases are covered. Example updated and scenario updated and renamed to calculation.
2022-11-24	0.1.1 	EngagementCostCentre entity amended to DerivedEngagementCostCentre.
2023-02-23	0.2.0 	Specification updated to use RPSTULOAD information for The Open University in Scotland, Z_PROVIDERGRP1 updated to Z_PROVIDERGRP2. Reference to REFPERIODEND updated to RDS.T_Collection.F_RefPeriodEnd
2023-03-22	0.2.1	Updated to specify which countries this derivation is applicable to, remove reliance on Z_PROVIDERGRP2. 	
2023-03-28	0.3.0	Field level updated to 3 and extra text added to indicate that this derivation is not produced for postgraduate research students; Engagements with no associated module information; APEL modules; inactive module instances and where cost centre data is unavailable.
2023-07-18	0.4.0	Module scenarios updated because cases in which the Module Instance started on the same day as the cycle were assigned to two different scenarios meaning they were not distinct. Example with three reference periods removed. Calculation broken into four steps for clarity. Z_PROVIDERGRP2 re-instated as a depend upon field because Z_STULOAD_CYC is set to 0 for providers in Scotland with the exception of the Open University. RDS.T_Collection.F_RefPeriodEnd updated to CycleEndDate so the specification holds when there is more than one reference period in the cycle.









